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Component Diagram
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Class Diagram
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03 = SEIR

- beta: double

- gamma: double

= - exposedDay: double

04 _ Country - vaczine: boal

- code: string

- S vector<doutle>
- populstion: double
- E: vector<doutle>

- disedzes: vector<Diseaze™ Matirx

- |- wector<double>

05 + Country{code - string. popul :double, BR : doubls) JR: vectr<double> + M: it

- S vector<doutle>

+ loadDstaicods © string) - string : M-It
+ SEIR{popul : double, BR : doubls, H . o o i
Siiata - vector<doubles ) + A vector<wector<double
Idata : wector<doubles, T L. e
06 Rdata : vector<double>, H + \-'Iat'lxl,rr: nt, m:int}
ini : wector<doubile=) Usze T
: + getRow(): int
+ R vector<double= :
C + getCol{): nt
= + EulerMethod{popul - double, BR - doubls, peniod - int): wector<vector<double=| H
07 = Diszase H + getElement{m: int, n: int): doubls
+ Isqeunitfpopal : double, BR | double, H
- ohder string EC-int ‘e aTH + setRowm int): void
ini: vector<double>, e
- Sdata: vector<doulle> Idata : vector<double®, ) vector<double> + setCol(n: irt}: woid
08 - ldsta: vector<doubles + setElement{m: int, n a: double]: voad
- Rdata: vector<double= + mwersa(): Matrix
-M: SEIR = SR + makeCofactonm: int, n: int): Matrix
-m: SIR >————, - beta: double += 2 + determinant(): double
+ Disease(code © string, popul © doubde, B8R :double)) =gamma: double : + tran-pasing(): Malrx
- ine: H perators(4; const Matrizd}: i
+ saveData(): void wvaczcine: bool : + operators(A; const Matrix&): Matrix
'

+ operator-(A: const Matried): Matrix

Use
- | vector=double= IA + operatort(A const Matrix& ) Matrix
- R: wector<double® : + operator={A; const Matrix&): Matrig
4 SIR(popul - double, BR - doubls : + pushBack{const westor<double™ \W): void
Sdata : vector<double> ; + pushBackiint |, const double t): void

g Idata - wector=double=, -
Rdata : vector<double®,
ini © wector<double=)

+ R vector<double>
+ EulerMethod{popul : doutde, BR © doulés, period | int): vector<vecior<double

+ |sqzuniit{popul : double, BR ; double,
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Idata - wector<double>,}: vector<doulbds>




01
02
03
04

05

06
07

08

2nd [teration S &

TEST 4

TEST 5

TEST 8

TEST 9

TEST 10

= ol Tl AlZhotet A E[=X] HA

—

m |$
uot =
=
02
-1
rot

1=
2
N
>

1H0f O]4 O|=0f v = HAE

O
[

k7

H ot 2|
37| S0LZ A=

(

e et
w2 o M
r-9-|"|> 0_>|I_m|0
LU @
N

iy N
ptagi!

4o A
Sk o
|> 40
rm ot

HOIH mjE AlA-e o 2F o2
MH 2t HAE
g HnE £ 37t



